Chapter Five Review
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6. Solving the quadrﬂ(\;equatlon by using any 6. X = XA +& ¢ X=2-5
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13. Factor the following e)'gpressmn completely
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17. The equation for the motion of a projectile
fired straight up at an initial velocity of 64 ft/sec
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From 1990 to 1996, the consumption of 18. Year: ] C\ 9 ;2 a«vxoa ;)OOO

poultry per capita is modeled by

y=-0.2125F + 2.615t t??? where t =0
corresponds to 1990.During what yea

was the consumption of poultry per capita at
about 61 per capita?
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Find the vertex of the quadratic function and explain how you found it. Identify the axis of symmetry.
Identify the coordinate of the y-intercept. Identify the coordinates of the x-intercept(s). Also identify if the
vertex/(\)f the graph is a m|n|mum or maX|m>um Then graph the quadratic function.
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